, ·						
Local Agency		(Nineia Departm	ont		Consultant	
Village of Lombard County DuPage Section 10-00154-00-BR Project No. BRM-9003(696) Job No. P91-752-10 Contact Name/Phone/E-mail Address David A. Dratnol - (630) 620-5740 Village Engineer	LOCAL AGENCY	Preliminary Engineeri Services Agreemen For Federal Participation	on ing t	CONSULTANT	Bollinger, Lach & Associ Address 333 Pierce Road - Suite City Itasca State Illinois Zip Code 60143 Contact Name/Phone/E-mail A Joel J. Ihde - (630) 438 jihde@bollingerlach.com	200 Address I-6400
dratnold@villageoflombard.org	Д					
THIS AGREEMENT is made and entered in Local Agency (LA) and Consultant (ENGINE Federal-aid funds allotted to the LA by the s (STATE) will be used entirely or in part to fin	ER) a tate o	and covers certain professional f Illinois under the general supe	l enginee ervision e	ering of th	services in connection with le Illinois Department of Tran	the PROJECT. sportation
- MAIN ASSAULT		Project Description	1			
Name Hill Avenue		Route FAU 1431	_ Lengt	h	0.189 m Structure No.	022-3025
Termini over East Branch DuPage River					***	(Existing)
Description Phase I study. Possible bridge	repla	cement. Type of f	ʻunding: I	HBP		
		Agreement Provision	าร			
<u> </u>						

I. THE ENGINEER AGREES,

- To perform or be responsible for the performance, in accordance with STATE approved design standards and policies, of engineering services for the LA for the proposed improvement herein described.
- To attend any and all meetings and visit the site of the proposed improvement at any reasonable time when requested by representatives of the LA or STATE.
- 3. To complete the services herein described within <u>450</u> calendar days from the date of the Notice to Proceed from the LA, excluding from consideration periods of delay caused by circumstances beyond the control of the ENGINEER.
- 4. The classifications of the employees used in the work should be consistent with the employee classifications and estimated manhours shown in EXHIBIT A. If higher-salaried personnel of the firm, including the Principal Engineer, perform services that are indicated in Exhibit A to be performed by lesser-salaried personnel, the wage rate billed for such services shall be commensurate with the payroll rate for the work performed.
- 5. That the ENGINEER is qualified technically and is entirely conversant with the design standards and policies applicable for the PROJECT; and that the ENGINEER has sufficient properly trained, organized and experienced personnel to perform the services enumerated herein.
- 6. That the ENGINEER shall be responsible for the accuracy of the work and shall promptly make necessary revisions or corrections resulting from the ENGINEER's errors, omissions or negligent acts without additional compensation. Acceptance of work by the STATE will not relieve the ENGINEER of the responsibility to make subsequent correction of any such errors or omissions or for clarification of any ambiguities.
- 7. That all plans and other documents furnished by the ENGINEER pursuant to this AGREEMENT will be endorsed by the ENGINEER and will affix the ENGINEER's professional seal when such seal is required by law. Plans for structures to be built as a part of the improvement will be prepared under the supervision of a registered structural engineer and will affix structural engineer seal when such seal is required by law. It will be the ENGINEER's responsibility to affix the proper seal as required by the Bureau of Local Roads and Streets manual published by the STATE.
- 8. That the ENGINEER will comply with applicable federal statutes, state of Illinois statutes, and local laws or ordinances of the LA.

- 9. The undersigned certifies neither the ENGINEER nor I have:
 - employed or retained for commission, percentage, brokerage, contingent fee or other considerations, any firm or person (other than a bona fide employee working solely for me or the above ENGINEER) to solicit or secure this AGREEMENT,
 - agreed, as an express or implied condition for obtaining this AGREEMENT, to employ or retain the services of any firm or person in connection with carrying out the AGREEMENT or
 - paid, or agreed to pay any firm, organization or person (other than a bona fide employee working solely for me or the above ENGINEER) any fee, contribution, donation or consideration of any kind for, or in connection with, procuring or carrying out the
 - are not presently debarred, suspended, proposed for debarment, declared ineligible or voluntarily excluded from covered transactions by any Federal department or agency,
 - have not within a three-year period preceding the AGREEMENT been convicted of or had a civil judgment rendered against them for commission of fraud or criminal offense in connection with obtaining, attempting to obtain or performing a public (Federal, State or local) transaction; violation of Federal or State antitrust statutes or commission of embezzlement, theft, forgery, bribery, falsification or destruction of records, making false statements or receiving stolen property,
 - are not presently indicted for or otherwise criminally or civilly charged by a government entity (Federal, State or local) with commission of any of the offenses enumerated in paragraph (e) and
 - have not within a three-year period preceding this AGREEMENT had one or more public transactions (Federal, State or local) terminated for cause or default.
- 10. To pay its subconsultants for satisfactory performance no later than 30 days from receipt of each payment from the LA.
- 11. To submit all invoices to the LA within one year of the completion of the work called for in this AGREEMENT or any subsequent Amendment or Supplement.
- 12

12.	To s	submit BLR 05613, Engineering Payment Report, to the STATE upon completion of the project (Exhibit B).
13.	Sco	pe of Services to be provided by the ENGINEER:
	\boxtimes	Make such detailed surveys as are necessary for the planning and design of the PROJECT.
	\boxtimes	Make stream and flood plain hydraulic surveys and gather both existing bridge upstream and downstream high water data and flood flow histories.
	\boxtimes	Prepare applications for U.S. Army Corps of Engineers Permit, Illinois Department of Natural Resources Office of Water Resources Permit and Illinois Environmental Protection Agency Section 404 Water Quality Certification.
		Design and/or approve cofferdams and superstructure shop drawings.
	\boxtimes	Prepare Bridge Condition Report and Preliminary Bridge Design and Hydraulic Report, (including economic analysis of bridge or culvert types and high water effects on roadway overflows and bridge approaches).
	☒	Prepare the necessary environmental and planning documents including the Project Development Report, Environmental Class of Action Determination or Environmental Assessment, State Clearinghouse, Substate Clearinghouse and all necessary environmental clearances.
		Make such soil surveys or subsurface investigations including borings and soil profiles as may be required to furnish sufficient data for the design of the proposed improvement. Such investigations to be made in accordance with the current Standard Specifications for Road and Bridge Construction, Bureau of Local Roads and Streets Administrative Policies, Federal-Aid Procedures for Local Highway Improvements or any other applicable requirements of the STATE.
	\boxtimes	Analyze and evaluate the soil surveys and structure borings to determine the roadway structural design and bridge foundation.
		Prepare preliminary roadway and drainage structure plans and meet with representatives of the LA and STATE at the site of the improvement for review of plans prior to the establishment of final vertical and horizontal alignment, location and size of drainage structures, and compliance with applicable design requirements and policies.
		Make or cause to be made such traffic studies and counts and special intersection studies as may be required to furnish sufficient data for the design of the proposed improvement.
		Complete the general and detailed plans, special provisions and estimate of cost. Contract plans shall be prepared in accordance with the guidelines contained in the Bureau of Local Roads and Streets manual. The special provisions and detailed estimate of cost shall be furnished in quadruplicate.
		Furnish the LA with survey and drafts in quadruplicate all necessary right-of-way dedications, construction easements and borrow pit and channel change agreements including prints of the corresponding plats and staking as required.

II. THE LA AGREES,

- To furnish the ENGINEER all presently available survey data and information
- 2. To pay the ENGINEER as compensation for all services rendered in accordance with this AGREEMENT, on the basis of the following compensation formulas:

	Cost Plus Fixed Fee	 □ CPFF = 14.5%[DL + R(DL) + OH(DL) + IHDC], or □ CPFF = 14.5%[DL + R(DL) + 1.4(DL) + IHDC], or □ CPFF = 14.5%[(2.3 + R)DL + IHDC]
		Where: DL = Direct Labor IHDC = In House Direct Costs OH = Consultant Firm's Actual Overhead Factor R = Complexity Factor
	Specific Rate	☐ (Pay per element)
	Lump Sum	
3.	To pay the ENGINEER	using one of the following methods as required by 49 CFR part 26 and 605 ILCS 5/5-409:
	With Retainage	
	the LA, monthly pa 95% of the value of b) After 50% of the wathe LA, monthly pa	of completed work, and upon receipt of monthly invoices from the ENGINEER and the approval thereof by ments for the work performed shall be due and payable to the ENGINEER, such payments to be equal to five the partially completed work minus all previous partial payments made to the ENGINEER. It is completed, and upon receipt of monthly invoices from the ENGINEER and the approval thereof by the payments covering work performed shall be due and payable to the ENGINEER, such payments to be equal of the partially completed work minus all previous partial payments made to the ENGINEER.

☐ Without Retainage

the ENGINEER.

a) For progressive payments – Upon receipt of monthly invoices from the ENGINEER and the approval thereof by the LA, monthly payments for the work performed shall be due and payable to the ENGINEER, such payments to be equal to the value of the partially completed work minus all previous partial payments made to the ENGINEER.

Final Payment - Upon approval of the work by the LA but not later than 60 days after the work is completed and reports have

AGREEMENT less the total of the amounts of partial payments previously paid to the ENGINEER shall be due and payable to

been made and accepted by the LA and the STATE, a sum of money equal to the basic fee as determined in this

- b) Final Payment Upon approval of the work by the LA but not later than 60 days after the work is completed and reports have been made and accepted by the LA and STATE, a sum o money equal to the basic fee as determined in this AGREEMENT less the total of the amounts of partial payments previously paid to the ENGINEER shall be due and payable to the ENGINEER.
- 4. The recipient shall not discriminate on the basis of race, color, national origin or sex in the award and performance of any DOT-assisted contract or in the administration of its DBE program or the requirements of 49 CFR part 26. The recipient shall take all necessary and reasonable steps under 49 CFR part 26 to ensure nondiscrimination in the award and administration of DOT-assisted contracts. The recipient's DBE program, as required by 49 CFR part 26 and as approved by DOT, is incorporated by reference in this agreement. Implementation of this program is a legal obligation and failure to carry out its terms shall be treated as violation of this agreement. Upon notification to the recipient of its failure to carry out its approved program, the Department may impose sanctions as provided for under part 26 and may, in appropriate cases, refer the matter for enforcement under 18 U.S.C. 1001 and/or the Program Fraud Civil Remedies Act of 1986 (31U.S.C. 3801 et seq.).

III. IT IS MUTALLY AGREED,

- 1. That no work shall be commenced by the ENGINEER prior to issuance by the LA of a written Notice to Proceed.
- 2. That tracings, plans, specifications, estimates, maps and other documents prepared by the ENGINEER in accordance with this AGREEMENT shall be delivered to and become the property of the LA and that basic survey notes, sketches, charts and other data prepared or obtained in accordance with this AGREEMENT shall be made available, upon request, to the LA or to the STATE, without restriction or limitation as to their use.

tο

- 3. That all reports, plans, estimates and special provisions furnished by the ENGINEER shall be in accordance with the current Standard Specifications for Road and Bridge Construction, Bureau of Local Roads and Streets Administrative Policies, Federal-Aid Procedures for Local Highway Improvements or any other applicable requirements of the STATE, it being understood that all such furnished documents shall be approved by the LA and the STATE before final acceptance. During the performance of the engineering services herein provided for, the ENGINEER shall be responsible for any loss or damage to the documents herein enumerated while they are in the ENGINEER's possession and any such loss or damage shall be restored at the ENGINEER's expense.
- 4. That none of the services to be furnished by the ENGINEER shall be sublet, assigned or transferred to any other party or parties without written consent of the LA. The consent to sublet, assign or otherwise transfer any portion of the services to be furnished by the ENGINEER shall not be construed to relieve the ENGINEER of any responsibility for the fulfillment of this agreement.
- 5. To maintain, for a minimum of 3 years after the completion of the contract, adequate books, records and supporting documents to verify the amounts, recipients and uses of all disbursements of funds passing in conjunction with the contract; the contract and all books, records and supporting documents related to the contract shall be available for review and audit by the Auditor General and the STATE; and to provide full access to all relevant materials. Failure to maintain the books, records and supporting documents required by this section shall establish a presumption in favor of the STATE for the recovery of any funds paid by the STATE under the contract for which adequate books, records and supporting documentation are not available to support their purported disbursement.
- 6. The payment by the LA in accordance with numbered paragraph 3 of Section II will be considered payment in full for all services rendered in accordance with this AGREEMENT whether or not they be actually enumerated in this AGREEMENT.
- 7. That the ENGINEER shall be responsible for any and all damages to property or persons arising out of an error, omission and/or negligent act in the prosecution of the ENGINEER's work and shall indemnify and save harmless the LA, the STATE, and their officers, agents and employees from all suits, claims, actions or damages of any nature whatsoever resulting there from. These indemnities shall not be limited by the listing of any insurance policy.
- 8. This AGREEMENT may be terminated by the LA upon giving notice in writing to the ENGINEER at the ENGINEER's last known post office address. Upon such termination, the ENGINEER shall cause to be delivered to the LA all drawings, plats, surveys, reports, permits, agreements, soils and foundation analysis, provisions, specifications, partial and completed estimates and data, if any from soil survey and subsurface investigation with the understanding that all such material becomes the property of the LA. The LA will be responsible for reimbursement of all eligible expenses to date of the written notice of termination.
- 9. This certification is required by the Drug Free Workplace Act (30ILCS 580). The Drug Free Workplace Act requires that no grantee or contractor shall receive a grant or be considered for the purpose of being awarded a contract for the procurement of any property or service from the State unless that grantee or contractor will provide a drug free workplace. False certification or violation of the certification may result in sanctions including, but not limited to, suspension of contract or grant payments, termination of a contract or grant and debarment of the contracting or grant opportunities with the State for at least one (1) year but no more than five (5) years.

For the purpose of this certification, "grantee" or "contractor" means a corporation, partnership or other entity with twenty-five (25) or more employees at the time of issuing the grant, or a department, division or other unit thereof, directly responsible for the specific performance under a contract or grant of \$5,000 or more from the State, as defined in the Act.

The contractor/grantee certifies and agrees that it will provide a drug free workplace by:

- a. Publishing a statement:
 - (1) Notifying employees that the unlawful manufacture, distribution, dispensing, possession or use of a controlled substance, including cannabis, is prohibited in the grantee's or contractor's workplace.
 - (2) Specifying the actions that will be taken against employees for violations of such prohibition.
 - (3) Notifying the employee that, as a condition of employment on such contract or grant, the employee will:
 - (a) abide by the terms of the statement; and
 - (b) notify the employer of any criminal drug statute conviction for a violation occurring in the workplace no later than five (5)
 days after such conviction.
- b. Establishing a drug free awareness program to inform employees about:
 - (1) The dangers of drug abuse in the workplace;
 - (2) The grantee's or contractor's policy of maintaining a drug free workplace;
 - (3) Any available drug counseling, rehabilitation and employee assistance program; and
 - (4) The penalties that may be imposed upon an employee for drug violations.
- c. Providing a copy of the statement required by subparagraph (a) to each employee engaged in the performance of the contract or grant and to post the statement in a prominent place in the workplace.
- d. Notifying the contracting or granting agency within ten (10) days after receiving notice under part (B) of paragraph (3) of subsection (a) above from an employee or otherwise receiving actual notice of such conviction.
- e. Imposing a sanction on, or requiring the satisfactory participation in a drug abuse assistance or rehabilitation program by,
- f. Assisting employees in selecting a course of action in the event drug counseling, treatment and rehabilitation is required and indicating that a trained referral team is in place.
- g. Making a good faith effort to continue to maintain a drug free workplace through implementation of the Drug Free Workplace Act.

- 10. The ENGINEER or subconsultant shall not discriminate on the basis of race, color, national origin or sex in the performance of this AGREEMENT. The ENGINEER shall carry out applicable requirements of 49 CFR part 26 in the administration of DOT assisted contracts. Failure by the ENGINEER to carry out these requirements is a material breach of this AGREEMENT, which may result in the termination of this AGREEMENT or such other remedy as the LA deems appropriate.
- 11. All provisions of the LA's request for proposals dated July 23, 2010, the ENGINEER's proposal dated August 5, 2010 and the ENGINEER's letter of August 31, 2010 remain in full force and effect. Total compensation amount is a not to exceed amount of \$210,128.92.

Agreement Summary

Prime Consultant:	TIN Number	Agreement Amount
Bollinger, Lach & Associates, Inc.	36-4263432	\$147,824.92
	r	
Sub-Consultants:	TIN Number	Agreement Amount
Seeco Consulting, Inc.	36-3458492	\$29,012.00
Millennia Professional Services	20-0886076	\$31,392.00
Sanders Design Group	20-8729719	\$1,900.00
	Sub-Consultant Total:	\$ 62,304.00
	Prime Consultant Total:	\$147,824.92
	Total for all Work:	\$210,128.92

Executed by the LA:	Village of Lombard (Municipality/Township/County)
By: Srigitte Obrier VILLAGE Clerk	By: May Marke
VILLAGE Clerk	Title: YILAGE PRESIDENT
(SEAL)	
Executed by the ENGINEER:	,
ATTEST:	Bollinger, Lach & Assocites, Inc.
By: Ind & hole	By: Crey A. Jun
Title: Vice President	Title: Chief Executive Officer

*Firm's approved rates on file with IDOT'S

Bureau of Accounting and Auditing:

%

147.41 0.00

Calendar Days 450 Overhead Rate (OH) Complexity Factor (R)

Village of Lombard FAU 1431 Local Agency:

(Municipality/Township/County)

10-00154-00-BR BRM-9003(696) Project: Job No.: Section:

P91-752-10 S.N. 022-3025(Exist.) HBP Funding

Method of Compensation:

14.5%[DL + R(DL) + OH(DL) + IHDC] 14.5%[DL + R(DL) + 1.4(DL) + IHDC] 14.5%[(2.3 + R)DL + IHDC] Cost Plus Fixed Fee 2 Cost Plus Fixed Fee 3 Cost Plus Fixed Fee 1

Specific Rate Lump Sum

			COSt Estime	ite or consultani	Cost Estimate of Consultant's Services in Dollars	llars			
Element of Work	Employee Classification	Man- Hours	Payroll Rate	Payroll Costs (DL)	Overhead*	Services by Others	In-House Direct Costs (IHDC)	Profit	Total
1. Data Collection	Project Manager	7.00	\$40.58	\$284.06	\$418.73	\$0.00	\$380.00	\$457 00	64 020 70
	Design Engineer	21.00	\$26.21	\$550.41	\$811.35	\$0.00	\$0.00	\$197.45	\$1,559.79
C. C									1,000
z. Mosaics/Renderings	Project Manager	16.00	\$40.58	\$649.28	\$957.10	\$0.00	\$480.00	\$302.52	\$2,388,90
	Design Engineer	2.00	\$26.21	\$52.42	\$77.27	\$0.00	\$0.00	\$18.80	\$ 148 49
	CAUD Lech II	10.00	\$32.09	\$320.90	\$473.03	\$0.00	\$0.00	\$115.12	\$ 909.05
						\$1,900.00			\$1,900.00
3 Survey	Die Oten och	000	200						
o. Cul vey	Dir. Siruct. Eng.	0.00	\$47.28	\$283.68	\$418.17	\$0.00	\$0.00	\$101.76	\$ 803.61
	Project Manager	4.00	\$40.58	\$162.32	\$239.27	\$0.00	\$0.00	\$58.23	\$ 450.87
	Design Engineer	8.00	\$26.21	\$209.68	\$309.08	\$0.00	\$0.00	\$7E 00	473.02
	CADD Tech II	4.00	\$32.09	\$128.36	\$189.21	\$0.00	\$0.00	\$48.04	9 293.90 9 262 64
						\$31 392 00	200	40.04	# 303.01
						00:100			00.286,164
4. Environmental	Dir. Enviro. Svcs.	80.00	\$43.80	\$3.504.00	\$5 165 24	\$0.00	\$342.00	04 000	9.00
	CADD Tech II	20.00	\$32.09	\$641 RD	\$046.07	00.00	90.00	0.000.00	\$10,317.87
			201123	00-1	10.0464	90.00	\$0.00	\$230.24	\$1,818.11
Totals		470.00		70 001 00					
		1/0.00		\$6,786.91	\$10,004.52	\$33,292.00	\$1,202.00	\$2,609.01	\$53 894 44

*Firm's approved rates on file with IDOT'S Bureau of Accounting and Auditing:

%

147.41

Overhead Rate (OH) Complexity Factor (R) Calendar Days 450

ounty)		
FAU 1431 // Village of Lombard (Municipality/Township/County) 10-00154-00-BR BRM-9003(696) P91-752-10	O.IV. UZZ-JUZJ(EAISI.)	
Koute: Local Agency: Section: Project: Job No.: HRP Funding		

Method of Compensation:

 ⋈ 14.5%[DL + R(DL) + OH(DL) + IHDC]
 ⋈ 14.5%[DL + R(DL) + 1.4(DL) + IHDC]
 ⋈ 14.5%[(2.3 + R)DL + IHDC]
 ⋈ 14.5%[(2.3 + C)DL + IHDC] Cost Plus Fixed Fee 1 Cost Plus Fixed Fee 2 Cost Plus Fixed Fee 3 Specific Rate Lump Sum

			Cost Estima	ite of Consultan	ate of Consultant's Services in Dollars	llars			
Element of Work	Employee Classification	Man- Hours	Payroll Rate	Payroll Costs (DL)	Overhead*	Services by Others	In-House Direct Costs (IHDC)	Profit	Total
5. Alternate Geometry	Project Manager	86.00	\$40.58	\$3,489.88	\$5,144.43	\$0.00	\$262.00	\$1.289.96	\$10 186 27
	Design Engineer	156.00	\$26.21	\$4,088.76	\$6,027.24	\$0.00	\$0.00	\$1.466.82	\$11,582,82
	CADD Tech II	64.00	\$32.09	\$2,053.76	\$3,027.44	\$0.00	\$0.00	\$736.77	\$5,817.97
6 Accident Analysis	Project Manager	20	640.60	00000					
	Design Fraises	0.00	940.30	\$202.90 \$100	\$299.09	\$0.00	\$5.00	\$73.51	\$ 580.50
	CADD To 1	00.7	\$26.21	\$183.47	\$270.45	\$0.00	\$0.00	\$65.81	\$ 519.73
	CADD Tech II	3.00	\$32.09	\$96.27	\$141.91	\$0.00	\$0.00	\$34.53	\$ 272.71
7 Maint of Traffic	Decise Management	000	0.0						
r. Mallit. Or Fallic	Project Manager	3.00	\$40.58	\$121.74	\$179.45	\$0.00	\$450.00	\$108.92	\$ 860 11
	Project Engineer	13.00	\$30.76	\$399.88	\$589.46	\$0.00	\$0.00	\$143.45	\$1 132 70
	CADD Tech II	0.00	\$32.09	\$192.54	\$283.82	\$0.00	\$0.00	\$69.07	\$ 545.43
0									
o. Signt Distance	Project Manager	2.00	\$40.58	\$81.16	\$119.63	\$0.00	\$0.00	\$29.11	\$ 229.90
	Project Engineer	0.00	\$30.76	\$184.56	\$272.05	\$0.00	\$0.00	\$66.20	\$ 522.84
	CADD Tech II	2.00	\$32.09	\$64.18	\$94.60	\$0.00	\$0.00	\$23.02	\$ 181.80
								:	
‡-									
lotais		353.00		\$11,159.10	\$16,449.57		\$ 717.00	\$4,107.17	\$32,432.84

	*Firm's approved rates on file with IDOT'S	Rureau of Accounting and Auditing	במיכמת כן הכספתותוום מיום התחווום.	Overhead Rate (OH) 147.41		•	I	
Route: FAU 1431	Local Agency: Village of Lombard	(Municipality/Township/County)	Section: 10-00154-00-BR	Project: BRM-9003(696)	Job No.: P91-752-10	HBP Funding S.N. 022-3025(Exist.)		Method of Compensation:

Cost Estimate of Consultant's Services in Dollars

■ 14.5%[DL + R(DL) + OH(DL) + IHDC]
 ■ 14.5%[DL + R(DL) + 1.4(DL) + IHDC]
 ■ 14.5%[(2.3 + R)DL + IHDC]
 ■ 14.5%[(2.3 + R)DL + IHDC]

Cost Plus Fixed Fee 1 Cost Plus Fixed Fee 2 Cost Plus Fixed Fee 3

Specific Rate Lump Sum

			COSt ESUITION	ile oi consultan	ate of consultant's services in Dollars	ılars		j	
Element of Work	Employee Classification	Man- Hours	Payroli Rate	Payroll Costs (DL)	Overhead*	Services by Others	In-House Direct Costs (IHDC)	Profit	Total
9. Hydraulics	Principal,	5.00	\$70.00	\$350.00	\$515.93	\$0.00	\$1,509.00	\$344.36	\$2 719 29
	Project Manager	124.00	\$40.58	\$5,031.92	\$7,417.55	\$0.00	\$0.00	\$1.805.17	\$14 254 64
	Project Engineer	108.00	\$30.76	\$3,322.08	\$4,897.07	\$0.00	\$0.00	\$1.191.77	\$9.410.92
	Design Engineer	113.00	\$26.21	\$2,961.73	\$4,365.88	\$0.00	\$0.00	\$1,062.50	\$8,390.11
40 Proliminon, DDD		04.00	0	1	1				
10. r Tellillillally r DA	Froject Manager	27.00	\$40.58	\$1,095.66	\$1,615.11	\$0.00	\$628.20	\$484.15	\$3,823.12
	Design Engineer	70.00	\$26.21	\$1,834.70	\$2,704.53	\$0.00	\$0.00	\$658.18	\$5,197.41
	CADD Tech II	16.00	\$32.09	\$513.44	\$756.86	\$0.00	\$0.00	\$184.19	\$1,454.49
	Clerical	2.00	\$17.18	\$85.90	\$126.62	\$0.00	\$0.00	\$30.81	\$ 243.33
11. Final PDR	Principal	1.00	\$70.00	\$70.00	\$103.18	\$0.00	\$2,094.00	\$328.74	\$2,595,92
	Project Manager	9.00	\$40.58	\$365.22	\$538.37	\$0.00	\$0.00	\$131.02	\$1.034.61
	Design Engineer	32.00	\$26.21	\$838.72	\$1,236.35	\$0.00	\$0.00	\$300.88	\$2,375,95
	CADD Tech II	4.00	\$32.09	\$128.36	\$189.21	\$0.00	\$0.00	\$46.04	\$ 363.61
	Clerical	10.00	\$17.18	\$171.80	\$253.25	\$0.00	\$0.00	\$61.63	\$ 486.68
Totals		524.00		\$16,769.53	\$24,719.91		\$4,231.20	\$6,629.44	\$52,350.08

Page 8 of 11 Printed on 11/4/2010 8:13:40 AM

BLR 05610 (Rev. 9/06)

*Firm's approved rates on file with IDOT'S

Bureau of Accounting and Auditing:

%

147.41

Overhead Rate (OH) Complexity Factor (R)

Calendar Days

14.5%[DL + R(DL) + OH(DL) + IHDC] 14.5%[DL + R(DL) + 1.4(DL) + IHDC] 14.5%[(2.3 + R)DL + IHDC]

Method of Compensation:

Cost Plus Fixed Fee 1 Cost Plus Fixed Fee 2 Cost Plus Fixed Fee 3

Specific Rate Lump Sum Cost Estimate of Consultant's Services in Dollars

					7		T	Ī			1			1	Τ	Τ		Τ	T
	Total	\$ 200 RD	\$8 438 02	\$7,842,43	\$5,454.35		\$1.071.49	\$ 919.65	\$29,012.00		\$2,539,15	\$2 644 00	\$ 522.81	\$3,712.43	\$ 636.33	\$ 243.33	\$4 598 26	\$ 243.33	\$68 168 38
	Profit	\$36.82	\$1 068 57	\$993.14	\$690.72		\$135.69	\$116.46		·	\$321.55	\$334.83	\$66.20	\$470.13	\$80.58	\$30.81	\$582,31	\$30.81	\$4.958.62
	In-House Direct Costs (IHDC)	\$80.80	\$0.00	80.00	\$0.00		\$0.00	\$0.00			\$346.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$ 426.80
dis.	Services by Others	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00	\$0.00	\$29,012.00		\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$29,012.00
iate of consultant a cel vices in Dollals	Overhead*	\$103.18	\$4,390.81	\$4,080.89	\$2,838.23		\$557.56	\$478.55			\$1,115.12	\$1,375.83	\$272.05	\$1,931.80	\$331.12	\$126.62	\$2,392.75	\$126.62	\$20,121.13
	Payroll Costs (DL)	\$70.00	\$2,978.64	\$2,768.40	\$1,925.40			\$324.64			\$756.48	\$933.34	\$184.56	\$1,310.50	\$224.63	\$85.90	\$1,623.20	\$85.90	\$13,649.83
	Payroll Rate	\$70.00	\$47.28	\$30.76	\$32.09		\$47.28	\$40.58			\$47.28	\$40.58	\$30.76	\$26.21	\$32.09	\$17.18		\$17.18	
	Man- Hours	1.00	63.00	90.00	00.09		8.00	8.00			16.00	23.00	00.9	50.00	2.00	5.00	40.00	2.00	382.00
	Employee Classification	Principal	Dir. Struct. Eng.	Project Engineer	CADD Tech II	L č	Dir. Struct. Eng.	Project Manager			DIr. Struct. Eng.	Project Manager	Project Engineer	Design Engineer	CADD Tech II	Clerical	Project Manager	Clerical	
	Element of Work	12. Structural				40 000000	13. Georecinical			4.4 Montino	14. Weetings						 15. Administration		Totals

\$415.76 \$3,283.18 \$18,720.00 \$210,128.92 \$1,954.26 Total \$ 793.18 \$ 535.74 *Firm's approved rates on file with IDOT'S % Bureau of Accounting and Auditing: Profit \$100.44 \$247.48 \$67.84 147.41 0.00 **Direct Costs** Overhead Rate (OH) Complexity Factor (R) In-House (IHDC) \$6,577.00 Calendar Days \$0.00 \$0.00 \$0.00 Services by Others \$62,304.00 \$0.00 \$0.00 \$0.00 Cost Estimate of Consultant's Services in Dollars Overhead* \$73,003.57 \$1,708.44 \$1,016.92 \$278.78 412.74 Payroll Costs (DL) \$49,524.35 \$1,158.98 \$189.12 \$689.86 280.00 № 14.5%[DL + R(DL) + OH(DL) + IHDC]
 ☐ 14.5%[DL + R(DL) + 1.4(DL) + IHDC]
 ☐ 14.5%[(2.3 + R)DL + IHDC] Payroll Rate \$47.28 70.00 25.00 **1462.00** Man-Hours 17.00 4.00 Classification Project Manager (Municipality/Township/County) Dir. Struct. Eng. Employee Local Agency: Village of Lombard P91-752-10 S.N. 022-3025(Exist.) Principal 10-00154-00-BR BRM-9003(696) Method of Compensation: FAU 1431 Cost Plus Fixed Fee 1 Cost Plus Fixed Fee 2 Cost Plus Fixed Fee 3 **Element of Work** GRAND TOTALS HBP Funding Specific Rate 16. QA/QC Lump Sum Job No.: Section: Totals Project: Route:

Route: Hill Avenue Section: 10-00154-00-BR Project No.: BRM-9003(696) Job No.: P-91-752-10

SUMMARY of WORK HOURS and DIRECT COSTS

Structure No. SN-056-3025 (Existing)

		<u>WO</u>	ORK URS DIRECT COS	<u>ST</u>
1	Data Collection - Collection, Compilation, Revi and Evaluation of Data Base	ew 2	8 \$380.00	
2	Mosaics/Renderings	2	8 \$480.00	
3	Surveys	2:	2 \$0.00	
4	Environmental Data, Coordination, Inventory an Analysis	d 10	90 \$342.00	
5	Alternate Geometric Studies (6 Alternatives)	30	96 \$262.00	
6	Accident Analysis	13	5 \$5.00	
7	Traffic Maintenance Analysis	22	2 \$450.00	
8	Intersection Design Studies/Site Distance	10	0 \$0.00	
9	Hydraulic Report	35	\$1,509.00	
10	Project Development Report (Preliminary)	11	8 \$628.20	
11	Project Report (Final)	56	\$2,094.00	
12	Structural	21	4 \$80.80	
13	Geotechnical Investigation (SGR)	16	5 \$0.00	
14	Meetings / Coordination	10	7 \$346.00	
15	Administration / Management	45	\$0.00	
16	Quality Assurance/Quality Control	25	\$0.00	
	TO	TALS 146	\$6,577.00	_

Route: Hill Avenue - FAU 1431 Section: 10-00154-00-BR Project No.: BRM-9003(696) Job No.: P-91-752-10

DETAILED DIRECT COSTS

Structure No. SN-022-3025 (Existing)

1 - DATA COLLECTION Materials and Reproduction 1 3 \$15.00 Document Acquisition Costs GIS data from the County 1 \$100.00	\$45.00 \$100.00 \$100.00 \$135.00 \$380.00
Document Acquisition Costs GIS data from the County 1 \$100.00	\$100.00 \$100.00 \$135.00
GIS data from the County 1 \$100.00	\$100.00 \$135.00
GIS data from the County 1 \$100.00	\$100.00 \$135.00
	\$135.00
Vehicle Days 3 \$45.00 S	
2 - MOSAICS/RENDERINGS	
Materials and Reproduction 8 3 \$20.00	3480.00
	3480.00
3 - SURVEYS	
Misc Survey Supplies	\$0.00
GPS/Robotic Survey Equipment 0 \$45.00	\$0.00
Vehicle Days 0 \$45.00	\$0.00
	\$0.00
4 - WETLAND DELINEATION REPORT	
Materials and Reproduction	
Exhibits (11"x17") Color 1 10 \$0.20	\$2.00
Pages (8.5"x11") Color 10 \$0.15	\$15.00
Pages (8.5"x11") 100 10 \$0.10 \$	100.00
Misc. Materials and Binding 1 10 \$9.00	\$90.00
Vehicle Days 3 \$45.00 \$	135.00
<u> </u>	342.00
5 - ALTERNATE GEOMETRIC STUDIES	
Photography \$	100.00
6 Alternates x 1 Sheet x 4 copies (24" x 36") 6 4 \$3.00	572.00
	90.00
	262.00
6 - ACCIDENT ANALYSIS	
Materials and Reproduction 5 10 \$0.10	\$5.00
Subtotal =	\$5.00
7 - TRAFFIC MAINTENANCE ANALYSIS	
Detour vs. Stage Construction Plans 3 10 \$15.00 \$	450.00
Subtotal = $\overline{\hspace{1cm}}$	450.00
9 - HYDRAULIC REPORT	
General Location Drainage Map (11"x17") Color 1 20 \$0.20	\$4.00
	180.00
Draft, Pre-Final and Final Reports (24"x36") Color 3 20 \$15.00 \$	900.00
	200.00
Misc. Materials and Binding 1 20 \$9.00 \$	180.00
Vehicle Days 1 \$45.00\$	45.00
Subtotal = \$1	,509.00

Route: Hill Avenue - FAU 1431 Section: 10-00154-00-BR Project No.: BRM-9003(696) Job No.: P-91-752-10

DETAILED DIRECT COSTS

Structure No. SN-022-3025 (Existing)

	No. of Pages	Quantity	Rate	Extended Cost
10 - PROJECT DEVELOPMENT REPORT (PREL	IMINA	RY)		
Materials and Reproduction				
Exhibits (24"x36") Color	6	6	\$15.00	\$540.00
Exhibits (11"x17") Color	6	6	\$0.20	\$7.20
Pages (8.5"x11") Color	10	6	\$0.15	\$9.00
Pages (8.5"x11")	120	6	\$0.10	\$72.00
11 - PROJECT REPORT (FINAL)			Subtotal =	\$628.20
Materials and Reproduction				
Exhibits (24"x36") Color	6	20	\$15.00	\$1,800.00
Exhibits (11"x17") Color	6	20	\$0.20	\$24.00
Pages (8.5"x11") Color	10	20	\$0.15	\$30.00
Pages (8.5"x11")	120	20	\$0.10	\$240.00
- '			Subtotal =	\$2,094.00
12 - STRUCTURAL				
Materials and Reproduction				
Exhibits (24"x36") B&W	2	4	\$3.00	\$24.00
TSL (11"x17")	2	6	\$0.15	\$1.80
Pages (8.5"x11")	10	10	\$0.10	\$10.00
Vehicle Days		1	\$45.00	\$45.00
			Subtotal =	\$80.80
14 - MEETINGS / COORDINATION				
Materials and Reproduction				
Pages (8.5"x11")	4	10	\$0.10	\$4.00
Handout Brochures (Color)	1	100	\$0.15	\$15.00
Location Map (24"x36")	1	1	\$15.00	\$15.00
General Public Meeting Announcement				
(24"x36"x2)	1	2	\$15.00	\$30.00
Project Schedule (24"x36")	1	1	\$15.00	\$15.00
TSL (24"x36")	2	2	\$3.00	\$12.00
Existing and Proposed Typicals (24"x36")	1	1	\$15.00	\$15.00
Aerial Strip Map	1	1	\$15.00	\$15.00
Vehicle Days (5 meetings)		5	\$45.00	\$225.00
			Subtotal =	\$346.00

TOTAL DIRECT COSTS = \$6,577.00

Construction Monitoring & Observations
Construction Materials Testing
Tunnels and Underground Openings
Geotechnical Engineering & Evaluation

SEECO Consultants Inc. CONSULTING ENGINEERS

Subsurface Explorations
Foundation Analysis & Design
Structural Rehabilitation
Condition Surveys
Dams and Drainage Studies

August 30, 2010

Mr. Paul Kuehnlenz Village of Lombard 225 East Wilson Lombard, Illinois 60148

REVISED COST PROPOSAL

Subsurface Exploration, Laboratory Testing and Geotechnical Engineering and Analysis for the Proposed Bridge and Pavement Improvements for Hill Avenue Over the DuPage River, Lombard, Illinois

Dear Mr. Kuehnlenz:

Pursuant to your request, SEECO Consultants, Inc. is pleased to present our proposal for the above referenced project. In preparing our proposal, we have reviewed pertinent information and have visited the site. It is our understanding that the bridge is proposed to be reconstructed as a single span structure. Roadway improvements may be included to accommodate potential grade changes. In preparing our proposal, we have reviewed pertinent information and have visited the site.

The scope of work SEECO is proposing is as follows:

- Perform 4 soil borings up to 50 feet for the bridge abutments and 4 borings up to 15 feet below existing grade for roadway improvements. Two (2) pavement cores will be performed. The boreholes will be located in locations strategic to the proposed improvements accessible to a truck mounted drill rig. Pavement design recommendations will be prepared.
- The resulting soil samples will be returned to SEECO's laboratory for further testing and analysis.
 Visual Classification, Moisture Content and Unconfined Compressive Strength utilizing a
 calibrated penetrometer will be performed on all samples. Representative samples will be tested
 for grain size distribution, plasticity, dry unit weight, organic content and unconfined compressive
 strength (Qu by Rimac) as applicable. Up to 4 samples of the existing bridge deck wearing
 surfaces and/or waterproofing membranes will be transported to an NVLAP accredited laboratory
 for analysis of non-friable organically bound asbestos utilizing PLM and gravimetric reduction.
- Upon completion of the field exploration and laboratory testing a written geotechnical report will be prepared under the direction of a Registered Professional/Structural Engineer of Illinois. The report will encompass subsurface soil conditions, laboratory data, pavement design recommendations, bridge foundation recommendations, groundwater control recommendations and general construction considerations. The report will be prepared as an IDOT SGR. Data for the Scour Analysis will be supplied, but said analysis is not included. BLR 10220-Abestos Determination will be included also.
- It is anticipated that right of entry and access locations to the site will be provided to us. Boring locations may be offset as required. No utility R.O.W. conflicts are anticipated. This contract is not assignable.
- It is anticipated that right of entry and access locations to the site will be provided to us. Boring locations may be offset as required. No utility R.O.W. conflicts are anticipated.

(708) 429-1666 • 7350 Duvan Drive • Tinley Park, IL 60477 • FAX: (708) 429-1689 www.seeco.com • email: seeco@seeco.com

REVISED COST PROPOSAL

Subsurface Exploration, Laboratory Testing and Geotechnical Engineering and Analysis for the Proposed Bridge and Pavement Improvements Hill Avenue Over the DuPage River, Lombard, Illinois August 30, 2010 Page 2

 Boreholes will be backfilled with drill cuttings/cement bentonite grout and surface patched to match existing conditions. JULIE will be called for subsurface utility locates as required by law.
 Traffic control consisting of an arrow board, signs, cones and flagging personnel will be provided.

The estimated costs for the above-referenced services will be \$29,012.00 and are detailed on the attached unit rate fee schedule.

If awarded this work order, SEECO can initiate our services immediately and can complete the project within 20-30 calendar days, weather permitting and assuming required design data is available/provided.

If there are any questions with regard to this proposal, I would be glad to discuss them with you. We are very interested in providing you with our services on this project and assure you of our utmost cooperation.

Respectfully submitted,

SEECO Consultants, Inc.

Donald C. Cassier
Director of Field Services

Collin W. Gray, S.E., P.E.

President

DCC/bk

O:\Proposals\geotech\Lombard 082610.doc

Hill Avenue over the DuPage River-Lombard, IL UNIT PRICE FEE SCHEDULE

Mobilization of Equipment and Personnel	\$ 405.00
Field Engineer Estimate 32 hrs @ \$99.00/hr	\$3,168.00
Soil Borings with Truck Mounted Rig Estimate 260 L.F. @ \$27.70/L.F.	\$7,202.00
Flag Personnel-Technicians Estimate 52 man hours @ \$89.00/hr	\$4,628.00
Bag Samples Estimate 1 sample @ \$52.00/ea	\$ 52.00
Visual Classification (AASHTO), Moisture Content, Unconfined Compressive Strength (Qp) Estimate 104 tests @ \$12.50/test	\$1,300.00
IBR Test Estimate 1 test @ \$495.00/test	\$ 495.00
Combined Sieve/Hydrometer Test Estimate 6 tests @ \$155.00/test	\$ 930.00
Atterberg Limits Determination Estimate 6 tests @ \$85.00/test	\$ 510.00
Asbestos Analysis by PLM/Gravimetric Reduction Estimate 4 samples@ \$98.00/ea	\$ 392.00
Principal Engineer Estimate 4 hrs @ \$170.00/hr	\$ 680.00
Senior Project Engineer Estimate 8 hrs @ \$140.00/hr	\$1,120.00
Project Engineer Estimate 32 hrs @ \$120.00/hr	\$3,840.00
Staff Engineer Estimate 24 hrs @ \$99.00/hr	\$2,376.00
Draftsman Estimate 16 hrs @ \$89.00/hr	\$1,424.00
Technical Typist Estimate 10 hrs @ \$49.00/hr	<u>\$ 490.00</u>

ESTIMATED PROJECT TOTAL: \$29,012.00

COST PLUS FIXED FEE COST ESTIMATE OF CONSULTANT SERVICES

08/31/10
DATE
1,3523
OVERHEAD RATE COMPLEXITY FACTOR
Millennia Professional Services Hill Avenue Bridge Prime
FIRM PSB PRME/SUPPLEMENT

			OVERHEAD	IN-HOUSE		Outside	SERVICES			% OF
ITEM	MANHOURS	PAYROLL	-6	DIRECT	FIXED	Direct	BY	DBE	TOTAL	GRAND
			FRINGE BENF	COSTS	32	Costs	OTHERS	TOTAL		TOTAL
	(A)	(9)	(0)	(0)	<u> </u>	<u>(</u>	ĝ	3	(8-6)	1
Administration	10	464.10	627.60		171.72				1 263 42	4.02%
Horiz & Vert Control	32	874.92	1,183,15		323.72				2 381 78	7 50%
Route Survey	0,2	2,032.92	2,749.12	540,00	752.18				B 074 22	10 3597
Stream Survey	28	1.4			532.19				2 015 26	19.5078
Utilities	8	188.58			69.77				512.00	1 2/0/2
Right of Way Determination	24	686,34		ĺ	253.94				1 889 42	90.0
Land Acquisition Survey	144	4,897.80	9	1,200,00	1.812.18				14 522 27	2.33.78 AR 30.02
QAQC	8	309.18			114.40				841.69	2 68%
									2	T
									B	
TOTALS	352	10,892.19	14,729.51	1,740.00	4,030.11				31.391.82	100 00%

Printed 8/31/2010 10:26 AM

AVERAGE HOURLY PROJECT RATES

Millennia Professional Services Hill Avenue Bridge Prime FIRM PSB PRIME/SUPPLEMENT

DATE 08/31/10

SHEET

မ

Я

PAYROLL	AVG	TOTAL P	TOTAL PROJECT RATES	Г	Administration	tration	ľ	Horiz & Vert Control	rt Contro		Route Survey	<u> </u>	ľ	Stream Survey	urvev		Lifilifies		ſ
	HOURLY	Hours	%	Wgtd	Hours	%	Watd	Hours	%	Watd	Hours	,	World	Hours	\ *	World	Holling	8	Water
CLASSIFICATION	RATES		Part.	Avg		Part.	Avg	_	Part.	Avg		Part.			Part	Ava		t e d	2
President/Principal	46.41	10	2.84%	1.32	5	100.00%	46.41												ê
Vice President	46.41																		
Resident Engineer	40.53																		
Project Manager	44.03							_											
Project Engineer	39.53	88	25.00%	9.88				-			24	34.29%	13.55	Ī					
Director of Surveying	38.65	99	15.91%	6,15				8	25.00%	9.66									
Engineer III	29.58							 						Ī					
Engineer II	27.03																		
Technician IV	30.57	38	26.99%	8.25				12 37	37.50%	11.46	23	32,86%	10.04	24	42.86%	13.10	4	50.00%	15.28
Technician III	28.34																		
Technician II	23.84	24	6.82%	1.63				_			Ī			24	42.86%	10.22			
Technician I	16.58	62	22.44%	3.72				12 37	37.50%	6.22	23	32.86%	5.45	8	14.29%	2.37	4	50.00%	8 29
Intern	8,15									 									
											-								
									_						8				
									_										
								<u> </u>			Γ								
											<u> </u>								
								_											
TOTALS		352	100%	\$30.94	5	100.00% \$46.41	\$46.41	32 1	100%	\$27.34	02	100%	\$29.04	S.	100%	\$25.69	α	100%	€93 K7
							1		l		1					2	·	7	

AVERAGE HOURLY PROJECT RATES

FIRM Millennia Professional Services
PSB Hill Avenue Bridge
PRIME/SUPPLEMENT Prime

08/31/10 DATE

P 7 SHEET

ស

	$\overline{}$		_	_	_	_	_	_	7	_	_	•	_	_	_	7-	-	—	+	$\overline{}$	Τ-	_	7	7	7	_	_	$\overline{}$	_	_
	Motol	man de la company	ñ.																											
	8	ع د م	3																											
	House	9		\dagger	†	\dagger		\dagger		\dagger		\dagger		l			t				l							H		
ľ	_		2	T	İ		\dagger	T	Ì	T	T	T	T					T		T										
	\ %	-	╁	T	 	\dagger					<u> </u>		t		T		ŀ													
	Holling		<u> </u>	-		+	<u> </u> 		 -		 	<u> </u>	<u> </u>	╁	<u> </u>				ŀ									L	_	
F	╼	Ava			+	H	$\frac{1}{1}$	H			l		_	-	-			<u> </u>							_					
	卜		t	 	$\frac{1}{1}$	+	-	-	ł				-	L				<u> </u>		<u> </u>		_		_		L		_		
	%	_				\downarrow									L											L				
	Hours																													
	Watd	Ava						38.65																						\$38.65
	%	Part.						100.00%																						100%
QA/QC	Hours					l		- -					Ī																	οc
nivey	/atd						17.57	8,59			5.09			2.76																\$34.01
isition Sun	8	Part.					44.44%	22.22%			16.67%			16.67%																100%
Land Acquisition St	Hours				 		5	32			24	-		24																144
	ᇴ							12.88			10.19			5.53																\$28.60
Right of Way Determination	%	Part.						33,33%			33.33%			33,33%																100%
Right of W	Hours							80		<u> </u>	8	-		8															1	24
AVG	HOURLY	RATES	46.41	46.41	40.53	44.03	39.53	38.65	29.58	27.03	30.57	28.34	23.84	16.58	21.12	8.15														
PAYROLL		CLASSIFICATION	President/Principal	Vice President	Resident Engineer	Project Manager	Project Engineer	Director of Surveying	Engineer III	Engineer II	Technician IV	Technician III	Technician II	Technician I	Administrator	Intern														TOTALS

Direct Costs Hill Avenue Bridge

	Direc	Direct Costs				
mo l l		Que	Quantity		Cost	
	Each	Miles	Hours	Days	Per Item	Total
Truck				12	\$45.00	\$540.00
Title Commitments	4				\$300.00	\$300.00 \$1,200.00
Total Direct Costs					To be the second of the second	\$1 740 00



Joel Ihde, P.E., S.E. Bollinger, Lach & Associates, Inc. 333 Pierce Road, Suite 200 Itasca, Illinois 610143 August 27, 2010

RE:

Architectural Rendering Proposal

Hill Avenue Bridge

Dear Joel:

Sanders Design Group (SDG) is pleased to submit this proposal for professional architectural rendering services for a proposed bridge development. Based on the information provided to date and our conversation, my understanding of the project scope is as follows.

bridge rendering: SDG will prepare rendered presentation exhibits for two (2) different bridge alternatives as designed by Bollinger, Lach & Associates (BLA). Foe each alternative, SDG will prepare an exhibit that depicts both plan, elevation, and cross sectional views. Rendering shall be spatially accurate, based on cad files provided by BLA, and will depict potential bridge features such as materials, finishes, decorative railings, and any other unique features such as integrated signage or light fixtures.

Exhibits shall be prepared using a combination of computer and hand graphics, utilizing sheet layout and borders provided by BLA. Finished exhibits shall be scanned and provided in both pdf and .jpg format. Included with this proposal is one meeting at BLA offices to review preliminary layouts prior to completion of final exhibits.

Lump Sum Fee: \$ 1,900.00

Thank you for the opportunity to submit this proposal, please feel free to contact me with any questions or comments you may have.

Sincerely,

F* /

sanders design group

inders A

Primerpal

March 09, 2011

Village of Lombard

Project:

BRM-9003(696)

Section

10-00154-00-BR

Job No.

P-91-752-10

Brigitte O'Brien Village Clerk 255 East Wilson Ave. Lombard, IL. 60148

Dear Ms. O'Brien:

The agreement for preliminary engineering services, with Bollinger, Lach and Associates, Inc. in the amount of \$210,128.92 (federal share, \$168,103.12) was authorized by the Federal Highway Administration and approved by the department effective February 24, 2011.

The village may authorize the consultant to proceed with the engineering work called for in the agreement.

Your file copy of the approved engineering agreement is attached. If you have any questions contact Mr. Hameed, (217)785-1675.

Sincerely,

Darrell W. Lewis, P. E.

Acting Engineer of Local Roads and Streets

anell W. Lewis,

Cc-

Diane O'Keefe Attn: Chris Holt Dave Dratnol, Municipal Engineer Bollinger, Lach & Associates, Inc. Joanne Woodworth, Project Control